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JlZ==a A 2H8el XJ A 10,000 30,000 A20,000
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11T MISXASEX 68,081 61,977 6,104
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Al 247,404
307 gl2tol & 494,808 331,098 163,710
J| 247,404
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Al 20,463
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01 2l 10,000 10,000 0
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oFFH 68,720& * 1% = 40 2,749




SN ALSI S X
Ha: Lo =X 57
ol AW R T4 CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 2FAM| 5,000& = 1€ = 168 840
o HEF | 500,000& = 1H « 23| 1,000
OZ22E M=&gy s I 22X B 33,670
S 68,7203 * 6H » 64 26,389
oFFH 68,7203 * 69 » 13 5,361
o ZHAIH| 5,000& * 69" » 64 1,920
201 Let24d] 172,200 153,460 18,740
01 At 22l 33,298 27,598 5,700
OZRY 29 ANRESE L HIEDY
150,000& » 12& 1,800
OM~&ZH Xt 600,000& = 43| 2,400
OZH2R 2 AZF F2I| YUE
49,900 * 2CH = 128 1,198
OZURY HIIPFB2 448
800,000& = 12& 9,600
OBMZARY Q4B 248
750,000& = 12& 9,000
OStEE HIIHEAL2e =2
775,000& = 123 9,300
02 3322l 138,902 125,862 13,040
02323 %2 HA 47,120
EPNEEDNI 50,000& = 13l 50
cEIAMERES 35,0002 * 23| 70
cBRIA &ot+=ER2=3  250,000& * 12 3,000
oZARA - FEE HMIZE
3,500,000& * 12& 42,000
cZRARA EFINE 25% = 80,0002 & 2,000
OZ23I& AEIHE HZYI U=
11,0002 * 128 132
OZAZE MEIINE FEFHx22
180,000& » 12& 2,160
O =l 71,150
ocZJARA ¥ SHEHE
550,000& = 53 2,750
oot FRFU 5,700,000& = 12& 68,400
O Xl 350,000& * 104 » 12& 4,200
OA& &8l |Xldl| 9,940
oot &E Al |Xl2el 4,500
ocZB2IA ANE w22 4,000
cZARA EHE CCTVR Al 2el
120,000& * 128 1,440
OZSJATBA RUFHIANAE FA2e
350,000& = 12& 4,200
206 M= Hl 22,550 22,050 500




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 22,550 22,050 500
O&ciYX 2 & Fatzs + 9,750
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307 21201 & 2,318,978 2,150,447 168,531

2,071,478
Al 247,500

H

10 SIS XA LB SSH 25 2,318,978 2,150,447 168,531

OS2V 282 X (615%) 2,071,478
2,071,478
OS2}y sSgasH N 247,500

H

22 2UHEY 29 K& 3,440 2,320 1,120
1,720

516
1,204

zZ W

301 LetE2H = 3,440 2,320 1,120
1,720

516
1,204

Z W

09 BIXI &= 3,440 2,320 1,120

3,440

1,720
516
1,204

O o
10
o =
10
-
m
oy
m
M
08
pa
0

=z N H

SHELAT el ool XN (Heold X) 4,220 4,220 0
2,110
1,055
1,055

= Hn
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AN ALEI =X
g 0d ¥ 25 =X 58
A2

el B AMHA 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

307 glz2tol & 4,220 4,220 0
= 2,110
< 1,085
Al 1,085

10 ALl SXAIEEE2EH EX 4,220 4,220 0
OHeleold 2gHl X (2MHA) 4,220
= 2,110
= 1,055
Al 1,055

ZWA QIAB(EENAER MRS X&) 480,020 231,040 248,980
= 240,010
< 120,005
Al 120,005

307 21201 A 480,020 231,040 248,980
= 240,010
< 120,005
Al 120,005

10 ALSISXAIEEE2GHEX 480,020 231,040 248,980
OOl old BEXZ WA 21Hdl XI& 480,020
= 240,010
< 120,005
Al 120,005

EEKUA SE€222g NA(ESDEE MM 170,000 176,000 A 6,000

INE=D

= 85,000
< 42,500
Al 42,500

307 21201 A 170,000 176,000 A 6,000
= 85,000
< 42,500
Al 42,500

10 ALSISXAIEEE2EHEX 170,000 176,000 A 6,000
OsEESWA SE2RE 170,000
= 85,000
= 42,500
Al 42,500

A AL QIABI(ES WA MRS XH) 51,052 0 51,052
= 25,526
< 12,763
Al 12,763

307 21201 A 51,052 0 51,052
= 25,526
< 12,763
Al 12,763

10 AL SXNAIEEE2EHEX 51,052 0 51,052
O A 2124l 51,052
= 25,526
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ESMHIA 23 P iR )
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
== 12,763
Al 12,763
020y S2tAdl XI& 217,440 0 217,440
307 gl2tol & 217,440 0 217,440
10 AL SXNAIEEE2EH EX 217,440 0 217,440
ONEold S2tAaHl X 217,440
Helold -z A=sHl X2 16,296 0 16,296
307 g1+l & 16,296 0 16,296
10 ALSISXAIEEE2EHEX 16,296 0 16,296
O0eold &2 AsH X 16,296
EFAIE Dl 25 219,485 149,000 70,485
= 18,743
< 9,371
Al 191,371
ool &334 XA 13,000 15,000 A 2,000
402 RIZEX20l ™ 13,000 15,000 A2,000
01 U2 EALE X (KA MR) 13,000 15,000 A 2,000
OE=A4 &334l 22X 13,000
Helold Jis&Ed 52,485 54,000 A1,515
= 18,743
< 9,371
Al 24,371
307 21201 A 12,485 0 12,485
= 6,243
< 3,121
Al 3,121
11T AL SXAIEE = 12,485 0 12,485
Ongols dXs2AAE FHlidl 12,485
= 6,243
< 3,121
Al 3,121
401 A& HIZ 201 Y] 25,000 52,000 A 27,000
= 12,500
< 6,250
Al 6,250
01 A& HI 25,000 52,000 A 27,000
OO0l JIsEZ(MHES) 25,000
= 12,500
< 6,250
Al 6,250
402 RI2HXt20l 15,000 2,000 13,000
01 212t 2 A E = (REMTH ) 15,000 0 15,000
ONB0IE JIs22Z(HES)(XHM) 15,000
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SN ALSI S X
08 ¥ B8 =X =&
Selr BRAE Y 1S CERED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S0 AL X 154,000 80,000 74,000
402 2I2H X201 M 154,000 80,000 74,000
01 2I2E 2 A B (RERTH ) 154,000 80,000 74,000
OSEOWE0E &ALl X2 (2MH2) 154,000
ots=XE&H 6,178,681 5,312,743 865,938
= 2,061,012
J| 105,405
< 1,356,458
Al 2,655,806
FHZEMH2 2F 22 80,000 80,000 0
SIS 2F 22 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
05 RIZHRIE 3 80,000 80,000 0
OBUZ CAZ A=Y 80,000
Ots =X MHIA 235t 6,098,681 5,232,743 865,938
= 2,061,012
J| 105,405
< 1,356,458
Al 2,575,806
Ot=s?ds 22 2,830 2,280 550
201 L2l 2,830 2,280 550
01 At 2t 2l 2,830 2,280 550
OOS=X Hol9I#s AR4g
70,0002 * 7€ « 13l 490
OOESIR (BO3) ARcg
70,000& = 16H 13l 1,120
OOtSSARIA AA+Y
70,000 = 7H « 23| 980
O3 3o Mal 2 M
60,000& = 43| 240
Otz wsHE 300 0 300
201 Ler2d| 300 0 300
01 At 22l 300 0 300
ODNSEY &40 &1 2 =y 300
Oelolg J18 &AL 35,000 30,000 5,000
201 L2l 5,000 3,000 2,000
01 At 22l 5,000 3,000 2,000
Oogoled JISdA 83Uz 5,000
307 21201 A 30,000 27,000 3,000
11T MISXASEEX 30,000 27,000 3,000
O0eolg J1g&d At 30,000
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2N
X ZH -
L= B

el

Akl = X1 ot
ots=Xsd

OtSSX MblA 23

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %Ei 2t
Helo] =0|lAld 22 3,000 0 3,000
401 AlEHIZL 201 Y| 3,000 0 3,000
01 A& H| 3,000 0 3,000
O0E0l S0lAlE ZEIHI(FA YL E=) 3,000
RES0Is #*= 948 732 216
301 et A =2 948 732 216
01 Al E & A 462 948 732 216
ORBES0s 25 948
o 2 EH| 30,000 * 6 x 2& 360
o g AlH| 8,000 » 6 * 64 288
o Il = H| 50,0008 = 6H 300
IIE/E0ls XA 156,000 156,000 0
301 et M= 156,000 156,000 0]
01 Al E& A %52 156,000 156,000 0
OJIEEols =X
200,000& = 659 * 128 156,000
lekols A= 40,736 34,200 6,536
J| 28,515
= 2,444
Al 9,777
301 et M= 40,736 34,200 6,536
J| 28,515
= 2,444
Al 9,777
01 Al E& A 253 40,736 34,200 6,536
OYYE YF2Y X 40,736
J| 28,515
=3 2,444
Al 9,777
L AOlsS EEX=2 KNS 8,570 8,000 570
J| 6,000
& 515
Al 2,055
301 et A= 8,570 8,000 570
J| 6,000
= 515
Al 2,055
01 Al E & A 462 8,570 8,000 570
O AOtEs Az L 2z Hl XS 8,570
J| 6,000
o= 515
Al 2,055
lerglE X 2,700 2,700 0
J| 1,890
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AN ALEI =X
3 ois=Asd

el OtSSX MblA 23 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 162
Al 648
301 LEAZ 2,700 2,700 0
J| 1,890
< 162
Al 648
01 MEIBEZE 06z 2,700 2,700 0
ogddE & 2,700
J| 1,890
< 162
Al 648
Au=dt=a XA 4,000 3,000 1,000
< 2,000
Al 2,000
301 LA F 4,000 3,000 1,000
< 2,000
Al 2,000
01 AR 2Z A 53 4,000 3,000 1,000
Oged=dt=s XA 4,000
< 2,000
Al 2,000
Es0ts 42ty & 140,360 89,410 50,950
< 28,072
Al 112,288
301 LEM = 140,360 89,410 50,950
< 28,072
Al 112,288
01 MI2EZE 06z 140,360 89,410 50,950
OEs0ts =stoidid K& 3,000
< 600
Al 2,400
OEs0ts NEgd3=s N3 50,000
< 10,000
Al 40,000
OEs0ts s=gMHEH X 57,360
= 11,472
Al 45,888
OEsots Hetdegetd=s N& 30,000
< 6,000
Al 24,000
ESE=sSHEZXA 50,400 32,903 17,497
= 40,320
< 2,016
Al 8,064
301 LeHEBAF 50,400 32,903 17,497
= 40,320
< 2,016
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2N
P ors=EXEA

el

X ZH
S =

Akl = X1 ot

OtSSX MblA 23

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

8,064

= W

50,400

50,400
40,320
2,016
8,064

32,903

17,497

324,000

221,800

102,200

324,000

221,800

102,200

324,000
324,000

221,800

102,200

H

Al

222,500

120,500
102,000

337,250

A114,750

= N

222,500

120,500
102,000

337,250

A114,750

= M

H

222,500

127,500

25,500
102,000

95,000
95,000

337,250

A 114,750

OtSZE XA E(COA) OHE X&3

zZ W

54,300
38,010

3,258
13,032

41,500

12,800

=z W

54,300
38,010

3,258
13,032

41,500

12,800

= MW

54,300

54,300
38,010

3,258
13,032

41,500

12,800

mn X

Al

172,500
69,000
20,700
82,800

164,670

7,830

307 21201 &

Jl|

in

Al

172,500
69,000
20,700
82,800

164,670

7,830

10 AR SAAEHE2SEHIEX

OREslts 088 2s=2Y% NA (oA

172,500

164,676
65,870

164,670

7,830




2N
P ors=EXEA

el

X ZH
S =

Akl = X1 ot

OtSSX MblA 23

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 19,761
Al 79,045
ORES0s IEE 2529 X (249H|) 7,824
J| 3,130
=} 939
Al 3,755
ors=2lAd XA 43,200 43,200 0
301 dEtE M= 3,600 3,600 0
01 Al B & A 46 2 3,600 3,600 0
OolsEXAE(0EE )92
300,000& * 2 * 23] 1,200
O0tsEXNA4E (XY9otsHdH)2
100,000& = 1204 * 23] 2,400
307 2iz2to| A 39,600 39,600 0
10 MM SAANEEHESIHEX 39,600 39,600 0
O0tsEXNAE SAXF HLRIMEHI(OEE) 6,000
QOtESEXAYE EAMN HRMABI(XHG0ts Al
=D 33,600
AT S0 |24Y A 1,132,200 897,400 234,800
= 792,540
Al 339,660
301 et M= 1,132,200 897,400 234,800
=} 792,540
Al 339,660
01 Al E&E A 2623 1,132,200 897,400 234,800
O=F0JI=2x==XS 1,132,200
& 792,540
Al 339,660
ols4+% XEAS 1,977,980 1,660,450 317,530
= 1,384,600
& 178,010
Al 415,370
301 et A= 1,977,980 1,659, 150 318,830
= 1,384,600
== 178,010
Al 415,370
01 AR E & A 462 1,977,980 1,659, 150 318,830
Ooolss+d 20 1,977,980
= 1,384,600
& 178,010
Al 415,370
Ols 4% XXM AP =& 1,284 0 1,284
= 898
= 116
Al 270
201 et 9| 1,284 0 1,284
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SA: AEIEX D
HY: OlS=2NEA
el OIS =X MBIA 23 CER-ED

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

898
116
270

= Hn

01 ArR2t2lHl 1,284 0 1,284
Oots=+=% XIXA At =&H] 1,284
898

116
270

= N H

ANZAS SR 2BARNHSHLS =S XA ,000 3,000 6,000
,800

,200

= M

,800

9
1
7
307 glztol & 9,000 3,000 6,000
1
Al 7,200

ASI = XA 2 9,000 3,000 6,000
OZOMA=SXIN2 MM =L X& 5,400
1,080
Al 4,320
OLel=RDI& H2ME ==X 3,600
720
2,880

H

= N

ots SEAMHA X 144,062 104,800 39,262
115,249
14,406
14,407

=z N H

201 LEt2A | 73,962 69,298 4,664
59,169
7,396
7,397

= HnH

01 AtR 22l | 30,140 20,738 9,402
Odlei2gHl 3,000
2,400
300
300
OAMEESHI 10,480
8,384
1,048
1,048
OAlIZtel =4I 4,000
3,200
400
400
O4RT d2u=sH| 360,000& * 8%H 2,880
2,304
288
288

= H W =z N H = W

= N W

OOs=ERII2EAN &
70,000& = 11F * 43 3,080




SA AEI=X D
M ts=XNSd
& OtsSEX MHA 238t te[ @A)
SN EE - (SN) - HRAY - BHAS il Hl D = 2t
= 2,464
= 308
Al 308
O=2gAdsz 429 70,0008 » 10 * 13 700
= 560
= 70
Al 70
OdEI & HF#HUBIOIM A+
375,000& * 43| 1,500
= 1,200
< 150
Al 150
OEEAEE =8| 3,100
= 2,480
= 310
Al 310
OSEHEANAEY X244 1,400
= 1,120
= 140
Al 140
02 8323l 8,900 3,380 5,520
O3 & HA 6,500
= 5,200
= 650
Al 650
OXt&m Xl 2eldl 200,000 = 12& 2,400
= 1,920
= 240
Al 240
03 A2 Z I 34,922 45,180 210,258
OJNENMEZZ )& (X, IIFHID) 12,000
= 9,600
= 1,200
Al 1,200
ORIMEZ2 NS (MeHE, N&td, SHHID) 20,000
= 16,000
< 2,000
Al 2,000
OQuE T ) SHH A} 2,922
= 2,337
= 292
Al 293
202 04 HI 4,000 3,300 700
= 3,200
< 400
Al 400
01 =2 LHAOYI 4,000 3,300 700
OWNS B4 U CYUAFE P2=a 4,000
= 3,200
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AN ALEI =X
3 ois=Asd

e OS2 X MHA 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 400
Al 400

301 et A= 60,600 7,760 52,840
= 48,480
= 6,060
Al 6,060

01 A3 E & A 462 44,000 0 44,000
Oltsssid & EMXE 32,000
= 25,600
= 3,200
Al 3,200
O%III0ts S8 M-l A 12,000
= 9,600
o=t 1,200
Al 1,200

09 SHAIAHI X & 2 16,600 7,760 8,840
OMdg=Z=z 15,000
= 12,000
o=} 1,500
Al 1,500

,000& = 50F = 43 1,600
1,280
160
160

= N W

307 glztol & 5,500 5,500 0
4,400
550
550

=z N H

01 =2 7=Hl 5,500 5,500 0
OWLES 50,000& = 30 1,500
1,200

150
150
Oeta X & 50,000& * 40 2,000
1,600
200
200

100,000& * 20¢ 2,000
1,600
200
200

Z MW

= N H

O
[S)
om
y
oy
b
o

= M W

Ols SEMHIA XI&(XHA)

32,592

32,592

gt

ui}

201

e
H0
0
=

3,500

3,500

03

>
Ho

O 2
!
H
El 02
L

=

500,000& * 7%l

3,500
3,500

3,500

202 o4 Hl

2,592

2,592
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A AMIEX
M OtssXSA
CH2l: Ol =2 X AHMdlA 235 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
01 2L I 2,592 2,592 0
O0E SEMHIA ALEX
81,000& x 2% x 2 x 83| 2,592
301 et A= 26,500 26,500 0
01 AR E & A 462 26,500 26,500 0
OstdHy T2 50,000 = 20 * 12€ 12,000
Odelxlg ag Zz ) 100,000& = 80YH 8,000
OMAd=g =2 20,000& = 225%H 4,500
OJINEU2XA 10,0008 » 200 2,000
XNEolsHyH 29 885,540 850,400 35,140
= 442 770
o= 88,554
Al 354,216
307 212t0| & 830,400 770,400 60,000
= 415,200
& 83,040
Al 332,160
10 M SXNAEEHESIHEX 830,400 770,400 60,000
OXgotsdH JI22dd A 830,400
= 415,200
& 83,040
Al 332,160
402 SI2FAHE0| & 55,140 80,000 A 24,860
= 27,570
& 5,514
Al 22,056
02 BIZtXIEANYEX(0OIETHS) 55,140 80,000 AN 24 860
OXNHOtSHE SHAME X 55,140
= 27,570
= 5,514
Al 22,056
XNE0lsHEH ERQRY &9 3,648 3,648 0
= 1,824
= 365
Al 1,459
307 QI2t0| & 3,648 3,648 0
= 1,824
= 365
Al 1,459
10 AIRIEXAIEEHAE2IGHIEX 3,648 3,648 0
OXY0tl=sHdH EQRY 29
304,000 *~ 1A « 12€ 3,648
= 1,824
= 365
Al 1,459
XNE0lsSHEH ES8E 29 7,308 7,308 0
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A AMIEX
2 OlE=XEZ
CH2l: Ol =2 X AHMdlA 235 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,654
& 731
Al 2,923
307 2iz2to| A 7,308 7,308 0
= 3,654
& 731
Al 2,923
10 MM SAANEEHESIHEX 7,308 7,308 0
SLA2XY XAOSHE 29
609,000 = 1JOHA + 12€ 7,308
= 3,654
& 731
Al 2,923
eXNY90tsHdE X 27,258 27,258 0
= 13,629
& 2,726
Al 10,903
307 2iz2to| A 27,258 27,258 0
= 13,629
= 2,726
Al 10,903
10 MM SAANEEHESIGHEX 27,258 27,258 0]
O2LXN20olsHdH K& 27,258
= 13,629
o= 2,726
Al 10,903
XNE0olsHEH 29 483 A& 219,322 351,352 A 132,030
201 et 9,800 10,200 A 400
01 AP 2t 2] H| 6,800 7,200 A 400
OZ28d XY0lsHE 29 2,000
OXNOotsHEH 2|
100,000 * 43| ~ 1200 & 4,800
02 2224 H| 3,000 3,000 0
O2g8d XNY0olsdH 2382l 3,000
307 gizto| A 205,522 321,644 A 116,122
10 MM SAANEEESIGHEX 205,522 321,644 A 116,122
OXNYOotSHE FII2ddl X2 (HHAH]) 205,522
405 KHAHFE S HI 4,000 4,000 0]
01 AL 2 ZF S| 4,000 4,000 0
OZ2gd™ XNY90lsHEH HESF7Y 4,000
NEotsHE FOI2gd X 313,628 0 313,628
& 83,726
Al 229,902
307 2iz2to| & 313,628 0 313,628
& 83,726
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©OAEI = X

o ots=Nsd

D OFsSSEX MHA 238t

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Al 229,902
10 MM SAANEEHESIGHEX 313,628 0 313,628
OXNYotSHE =2 (SH E8h) 160,800
= 32,160
Al 128,640
OX<E0otsHdyH sA=220] A&
750,000& * 120HA = 3 E 27,000
= 5,400
Al 21,600
OXY0ots4dH QA 82 A 55,828
& 11,166
Al 44 662
OXgotsdH JIsEBZXNA 70,000
o= 35,000
Al 35,000
TS ME A0{0IH 0 WA K| & 8,444 0 8,444
< 1,689
Al 6,755
307 QI2t0| & 8,444 0 8,444
& 1,689
Al 6,755
10 A SEXNANEEHE2IGH EX 8,444 0 8,444
OX<E0otsHEH FHAISAHDAF XA 8,444
o=t 1,689
Al 6,755
CatH =S A 40,115 106,890 NB6,775
= 20,058
= 6,017
Al 14,040
307 2Iz2to| A 40,115 39,890 225
= 20,058
== 6,017
Al 14,040
10 MM SAANEEHESIGHEX 40,115 39,890 225
OtgNssdH 22Hl AN (A ZE) 40,115
= 20,058
= 6,017
Al 14,040
NE=s=E2g23s 29 4,400 0 4,400
201 gEt24Hy| 4,400 0 4,400
01 Ak 2reltl 4,400 0 4,400
OXeg=sg23 9 &
70,000& = 10Y = 23| 1,400
O=22(0l=sseXt &) ME
3,000,000 = 13| 3,000
8= o2H 82 A 30,556 0 30,556
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AN ALEI =X
3 ois=Asd
©el Ol SSX AHlA 2 (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

6,111
Al 24,445

307 21201 & 30,556 0 30,556

6,111
Al 24,445

in

10 AR SAAEHE2SHIEX 30,556 0 30,556
O0&E oAdd 252 X 30,556

6,111
Al 24,445

t

0%
B>
[im
H
fol

o
o
0x

. 752,521 1,065,435 687,086
9,300
262,671
51,985
,428,565

LRSI

Al

—

0x
k-
[im
1>
mw
>
x
Ho
02
el
[

, 134,280 549,280 585,000
J| 38,610
= 50,000
Al ,045,670

—

FAESEAE ANEHA 100,000 0 100,000
50,000
Al 50,000

H

401 AIEBIZ 2THEI 60,000 0 60,000

30,000
Al 30,000

H

01 A€ HI 60,000 0 60,000
OFAE=E ANEHA 60,000

30,000
Al 30,000

n

403 TtXI S SA=01A 40,000 0 40,000
20,000
Al 20,000

t

SII2S0Het =X AE A S I 40,000 0 40,000
O=&Al& PC 7 40,000

20,000
20,000

= M

0zt
b
im

=g 2 22 536,884 120,000 416,884

| & 536,884 0 536,884

R
S
s}
on
=2
o
0z
I
40

Jn
=
e
=

536,884 0 536,884
365,440
37,233
34,595
23,462
23,220
26,757
22,616

O
re
e
=

0

02 02 02 02

>
fol

3,102,700& * 128 «
2,882,900 = 12& «
1,955,100& * 128 «
1,935,000& = 12& «
2,229,700& * 128 «
1,884,600 = 12& «

O OfT

0
fo

0
0T O

o
fol

0

2 02
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0
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0
o1
fol
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2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oA=& (12) 50,000 = 128 ~ 1¥ 600
oXtAL&(22) 40,0008 * 128 * 49 1,920
o XA (G UAAIA2L)

30,000& = 128 = 29 720
o M MFAY| 130,000 = 12&€ » 79 10,920
cIIE Y 4,800
o WEH|(3~42) 140,000& = 128 * 2H 3,360
oW EH|(68) 130,000& = 12&  1H 1,560
cWEHI(72, €3 ) 120,000 * 128 x 49¥ 5,760
oL (&%) 3,102,700&8 * 9% *~ 12& 3,351
ox 2R E 29,218
o HA S| 19,068
ocdIZYE 15,890
oG ALY 60,0008 * 2% x 200¥ 24,000
c4lBE & 25,747
ocEANESFHEZ 21,553
oAMEYRABXZZ X
100,000 * 5 x 50 25,000
o= bl 81,800& = 5 » 10& 4,090
o249l 161,444
CANRFES ¥ Ju*EF 7
300,000 = 128 3,600
o J|Et=EH| 500,000& = 12& 6,000
oIJlED|A X = 11,0008 * 12& 132
olMLEIIANES 600,000 = 12& 7,200
oN&BAALSEE 200,000& = 6 1,200
od Ao LA 200,000 = 243 4,800
o220l YL AtE 100,000& * 243| 2,400
S AMRININAE2E 300,000 = 12& 3,600
SEME=FSlas] 2,000
X =psPAkll 100,000& = 20¢! 2,000
o MG S M AIAE 70,000& * 12& 840
oxd &S =l 200,000 = 128 2,400
o AU XHIH M 2 HI 2,000& * 34! » 5,000 30,000
olN3le=2 60,0008 * 12& 720
cOIHYAIE S 410,000€ * 12€ 4,920
ocigl=ER=2 700,000& = 128 8,400
oMIIR=2 3,100,000 = 12& 37,200
ocllAANEE 450,000 * 12& 5,400
o CCTVE Al 22l ] 99,0008 * 12& 1,188
otSAENMMSINLEXtE 88,000& * 12& 1,056
olMIItNHHM 22 219,000 = 128 2,628
osAIRANELESY 100,000& = 12& 1,200

_58_




AN ALEI =X

Hm: HAW 25 Y 84
el BAULBAL 29 B2 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
oHgotAEEY 180,000& * 128 2,160
oaH(ted]) 1,500,000& = 12& 18,000
oESUINAEINEA 120,000& * 13 120
oXHAEHIMBALEH 1,000,000& * 13 1,000
oMESAEAASH 350,000& * 13 350
oIlAHIAMATH 20,000& * 13 20
o XHEE 150,000& =* 7¢I 1,050
oxHAEE 3 Y 700,000& * 13 700
o M4 &AH| 880,000& = 23| 1,760
o MG X EAH| 1,400,000& = 13 1,400
ol HEZ IHSHH| 1,000,000& = 13 1,000
o AN& KX E4H| 5,000,000& * 13 5,000
OEZOUSIH(H2HE )
2,000,000& =* 53] 10,000
MNEHAIAESFOYE 2E 22 280,614 340,000 N 59,386
308 AXISHAMSOIA 280,614 0 280,614
10 37 2SHUHSZEAHAE ALY 280,614 0 280,614
(@) Fal] 191,510
o4z TE S 2,497 ,500& * 128 x 14 29,970
o7g 7= 1,993,500 * 128 » 19 23,922
o XtALG 40,000& = 128 * 69 2,880
o HHFAH| 130,000& » 128 = 69 9,360
oY 5,520
oW EH|(42) 140,000& » 128 = 19H 1,680
ocWEHI(72,€38) 120,000 * 128 x 5H 7,200
oxIN2RE 27,593
o d&AEF Y| 26,609
ocldZ2aY 12,095
oG ALY 60,0008 * 19 » 60 3,600
c4lBE = 19,690
ocE AN EHZ 16,483
o= 0l 81,800& » 6% » 10 4,908
oa4g9| 69, 104
odMLIIANES 60,000& ~ 128 = 304 2,160
oAN&YAL=ES 120,000& * 68 720
o= H 0l X=Xl 22| 150,000& * 12& 1,800
o gt skl ul X 132,000& * 68 792
oHNERASFE 30,000& * 12& 360
OAMNEES 400,000 = 12& 4,800
O AMEININAEE 300,000& « 12& 3,600
o M7 300,000& * 4& 1,200
SEME=FSl¥]] 1,500

_59_




AN ALEI =X

Hm: HAW 25 Y 84
el BAULBAL 29 B2 (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o 2 A & x| 132,000& = 12&€ 1,584
o CtED| DI & Xthl 165,000& = 128 1,980
oXM3 L oIyl 250,000 = 128 3,000
ol R= 60,000& * 12& 720
oXMIIR=2 2,500,000& = 12& 30,000
oBotAHI s 265,000& = 12& 3,180
oMISAEMMSINAE = 88,000& * 12& 1,056
olMIItNHEM LS 132,000& = 12& 1,584
osAIIKRANELEY 99,000& * 12& 1,188
odEIDICIHES X 22 (=i &DI]1D])
60,0008 * 12& 720
oEAINEIIEA 120,000& * 13 120
ocXEXNEE 150,000& = 6¢Q! 900
o4& A& E S 700,000& * 13 700
o M&=ZXFHAH| 220,000& = 23| 440
o X EH| 1,300,000& = 13l 1,300
o Al 3 X E2Hl 3,000
ogHEZ)AHSAY| 700,000& * 13 700
OZ2)de2dd| (28 S)
2,000,000& = 103 20,000
HAHAEHSSOE 29 22 139,562 0 139,562
308 AXISHXMSOIHA 139,562 0 139,562
10 2| 2SHUSHEAXERAE AL 139,562 0 139,562
Ool2| 85,478
o4z 11s2 2,882,900 * 128 ~ 1& 34,595
o XA 4G 40,000 = 128 * 29 960
oM MFAYH| 130,000 * 128 * 2H 3,120
cIIExE 120,000 » 128 = 29 2,880
oW EH|(42) 140,000& = 128 ~ 14 1,680
cNWEH(EH) 120,000& » 128 = 194 1,440
ox W24 HE 10,779
o HAEFIHYI 5,740
ocldIZY 4,783
oG X G 60,000& ~ 18 = 60 3,600
c4lBE = 7,765
SR ESESES = 6,500
o =20 bl 81,800& x 29 » 10¢ 1,636
O2gH| 34,084
odMLEIIANES 60,000& » 128 = 204 1,440
oAN&BIAALASEE 120,000& = 6& 720
oMNEES 300,0008 * 1A = 12&€ 3,600
S AMEININAZE 200,000& * 1IHA = 128 2,400

_60_




SN ALSI S X
B AU 25 2 8H
& FAUEALE 2E 2 (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o M 300,000& * 43 1,200
o =& Il 500
o S AL & Xt 132,000& * 123 1,584
oMgh & oY 110,000& » 12& 1,320
ciol+=ER3 40,0003 = 128 480
oclMIIR=a 1,000,000& = 12& 12,000
o=ZotAH EA 198,000& * 123 2,376
CHIINHNBLLE 132,008 * 128 1,584
cZEDICARX2el (=2hI100)
30,000& = 12& 360
cNEXNEE 150,000 * 20! 300
o=#HAIZE 3l 700,000& * 13 700
o d S H | 220,000& * 13l 220
o AN4ERXE 2l 2,000
cOHEZ)HZIH| 1,300,000& * 13l 1,300
OZz1H2IH(NZHMES)
2,000,000& = 103l 20,000
SSEAE FAEXT A BEX 77,220 89,280 A 12,060
J| 38,610
Al 38,610
308 MtXIEHMSOIH 77,220 0 77,220
J| 38,610
Al 38,610
10 3J/2S0HUHeSEH4HAEALS HI 77,220 0 77,220
OFLrESEANE HAEX A BHXI XA (3Y) 77,220
J| 38,610
Al 38,610
A8 3ad 4 618,241 516,155 102,086
= 9,300
J| 224,061
< 1,985
Al 382,895
a4 23 & 16,002 16,182 A 180
202 O4dl 2,592 2,592 0
01 = LH 4 Hi 2,592 2,592 0
O&FAad =Xge =2
81,000& » 2 * 2& » 83 2,592
301 LEHZ 2,000 2,000 0
09 HAEHIX A S 2,000 2,000 0
OFAEHA 0 AH24 2,000
307 glz2+ol & 11,410 11,590 A 180
11T MISAASEX 11,410 11,590 A 180
O34H O=20tg 23 2,000




<

n0

Kio

Hl w

2,800
2,800

6,000
6,000

6,250

6,250

5,670

165,172
165,172

H3r
Wikd
RIS

2,800

6,000

6,250

159,502

4,555

Off &t 24

9,410

2,800
1,400
1,400
2,800
1,400
1,400
2,800
2,800

Il
Al
Il
Al

1,400
1,400
6,000
3,000
3,000
6,000
3,000
3,000
6,000
6,000
3,000
3,000
6,250
2,500

Jl
Al

y
Al
D)
Al
)
Al

i

625
3,125
6,250
2,500

i

625
3,125
6,250
6,250
2,500

fir

625
3,125

165,172
82,586
82,586

165,172
82,586
82,586

165,172

165,172
82,586
82,586

Jl
Al
Jl
Al
Jl|
Al

4,555

| = Xl o

3

At

2N

30
OH

Al
b
30

)
<
®0

ord

=

=)

308 A+XIEHH

30
OH

o}
[

oF
K0
)
<
R0
ar

80
O
o}
o)

UES

o
[und

|

=
=)

|
Otel X

308 Xt

o

=

=)

308 A+XI A

30
O

oratcio

ok
_lh_
00

)
<
®0

t

t

ord

=

S

308 A+XIEHH

o
il
H
!

ok
]
H
mJ
4
R0

_62_




AN ALEI =X

B HAd 95 2 8Y
€ A8 34AE |4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 3,555 3,555 0
01 At 22l 3,555 3,555 0
OFax~EEs 22 M= 1,000& * 1,00004 1,000
OFAES Z2slis MA € s
6,700& = 2100H 1,407
OFAaYE Rolga E=5BH g4
8,000% = 7 * 33| 168
OCYS-Net 2Z A3 &H4dxH
70,000& = 798 = 23] 980
301 LA S 1,000 1,000 0
12 JIEtE4 3 1,000 1,000 0
OFAY Roflad dxa=s 1,000
HAENGENMEH 29 2el 165,406 0 165,406
308 XtXIEHH SOl A 165,406 0 165,406
10 2| S OICHE 2 A X S| A R b 165,406 0 165,406
ool 135,726
ollE2Z3(HHE 1088)
2,743,500& ~ 10& 27,435
oJl2=(MEE 1188) 2,803,500 * 28 5,607
ocllEzs(4gd 558) 2,037,000& « 12& 24,444
cll2z(d#XY 35=) 1,815,2008 » 128 21,783
o dEF I 6,595,700& * 120% 7,915
ocZel=2(dHE 1058)
2,743,500& * 9% » 108 2,470
ocZel=2(dHE 1158)
2,803,500& = 9% » 2& 505
o g Al 130,000&  12& » 3Y 4,680
o W SHl 100,000& = 128 » 39 3,600
It EE 260,000& = 12& 3,120
S =] 33,700& * 20AI2+ » 12& 8,088
ocEHAIZR 60,000& = 535 3,180
cEANMES 126,888,960& * 1/12 10,575
c4HEEIIARE S 1,026,970& * 128 12,324
OAtS 2teltl 7,320
o S AT 250,000& = 123 3,000
oF¥aDl e 60,000& = 12& 720
= J|Et2< I 300,000& = 123 3,600
O=324gHl 18,360
cN3RI 30,0008 * 123 360
cPIHY RS 65,0003 = 128 = 334 2,340
oXMI|orM el 55,0008 * 123 660
oA EA 100,000& * 12& 1,200
oclIIR3 1,000,000& * 12& 12,000

_63_




AN ALEI =X

Hm: HAW 25 Y 84
ool AM HAW 84 EERED
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ocxERR3 50,000& * 123 600
S RSRCTENPS N 60,000& = 23l 120
SAEAS 120,000& * 6 720
oI A 2tel 30,000& = 123 360
O&&H| 1,000,000& * 4&7| 4,000
Fageordad 2= 105,080 184,516 AT9,436
J| 52,540
Al 52,540
308 XX EHSOIA 105,080 0 105,080
J| 52,540
Al 52,540
10 B3I/ 2SOHUHSZAEEALS I 105,080 0 105,080
OFAHANY X 105,080
J| 52,540
Al 52,540
FA4E e Z20Y 29 44,140 39,090 5,050
J| 22,070
Al 22,070
308 XtXIEHH SOl A 44,140 0 44,140
J| 22,070
Al 22,070
10 SII 2 SOICHEHE & & 2 AL I 44,140 0 44,140
OFaYd sSEHA 2208 29 44,140
J| 22,070
Al 22,070
st & 4@ X&E 89,236 82,060 7,176
J| 62,465
Al 26,771
308 A EHHSOIA 89,236 0 89,236
J| 62,465
Al 26,771
1037/ 2S0HUHeBHEAEALS I 89,236 0 89,236
Osgtn & AW XNJMH 22 89,236
J| 62,465
Al 26,771
Fad A2 1A 13,600 15,200 A1,600
= 6,800
< 1,360
Al 5,440
301 LBEXS 13,600 15,200 A 1,600
= 6,800
< 1,360
Al 5,440
01 MEIBEE 2053 13,600 15,200 A 1,600
Od3AE EAHAAMESE K& 13,600

_64_




AN ALEI =X

B HAd 95 2 8Y
€ A8 34AE |4 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 6,800
< 1,360
Al 5,440
HE2H AU (ALSI =Xt 714,717 645,684 69,033
= 210,328
< 35,059
Al 469,330
ol 2d | 673,625 611,352 62,273
= 210,328
< 35,059
Al 428,238
ol 2AY| 215,012 232,981 A17,969
101 @124l 215,012 232,981 217,969
03 RIHAZZ N E =+ 215,012 232,981 A17,969
OZ3Z&d & ot&& Aldze 22X B 215,012
=Jl2g 75,976
-3 1,397,750& » 1H 128 16,773
-5 = 1,417,820% * 1€ * 123 17,014
-188 3 1,732,570& » 1H 128 20,791
2088 1,783, 1402 » 1H » 128 21,398
SRR 75,976,000& * 1/12 * 400% 25,326
S ] 38,699
-3s3 147,200 » 1H » 58 128 8,832
453 148,640& » 18 * 58 * 123 8,919
-85 = 172,640 » 1H » 5% » 128 10,359
2083 176,480& = 18 * 58 * 123 10,589
oS URY 100,000& » 4% = 128 4,800
oM ATHSY 150,000& * 4H » 123 7,200
oAg ¢ 110,000& » 4% » 128 5,280
o Z A G A 120,000& * 4H » 123 5,760
o A2 =4I 80,000& = 4% = 12& 3,840
oXRad 110,000& * 4H = 123 5,280
cgd 100,000& * 4H = 12& 4,800
cItExd 180,000& » 12& 2,160
o H A F I 75,976,000% = 1/12 = 120% 7,598
cHXRSFIIH=E 107,520 » 4% » 182 7,742
o A 2H2l =G 19,351
-3 = 18,400& = 1% = 20AI2t = 12& 4,416
453 18,5803 » 1H = 20AI2H » 123 4,460
-188 & 21,5803 » 1 = 20AI2t = 128 5,180
2083 22,0603 = 18 = 20AI2t = 128 5,295
oZRA 2EXN IS
150,000& = 4% « 23| 1,200

_65_




2AM: A=K
MM HNM2HHH (A =2X D)

D o
e o al (Sl & &)

02 0

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

ol
]

el HH(EEAEHE) 143,505 152,240 A8,735
93,428
11,679

38,398

H0

= N H

101 1Al 143,505 152,240 8,735
93,428
11,679
38,398

= N H

JIHAZZRHE == 143,505 152,240 N8,735
E Ot S Al Ztel AL 124 116,785

o54 Xt (4Y) 73,185
58,548
7,319
7,318
c4UHEE D& RE3 11,000
8,800
1,100
1,100
o A2l =& 225,000& » 48 = 128 10,800
8,640
1,080
1,080
cEASH HES 2,950,000% = 4 11,800
9,440
1,180
1,180
o OtSSEAtel 22l AL 08l 10,000
8,000
1,000
1,000

= W = A =z N H = W

= N H

O

44 1N
Im
2
0
O

B At 22l Ab @1 A HI (Al

HL [~

S

26,720
120,000& » 48 = 128 5,760
40,0002 = 4% » 123 1,920
70,000% » 49 « 128 3,360
100,000& = 4% = 12Z 4,800
120,000& » 2 = 128 2,880
500,000¥ * 4% » 23 4,000

1,000,000 « 49 4,000

0
04
e
ps
T o

0
M
=

0
Ji]
10
00

Ut

0
o
0

B T TR !
<o
=5

30 don
il
3o
M
1>
0

0
S
M

0
U

e oe

0

_>'|_|

e
v
Ho
08
==
=
19
o
o
=
o
=
o
Jt
>
£
>

315,108 226,131 88,977
116,900
23,380
174,828

= W

101 1Al 315,108 226,131 88,977
116,900
23,380
174,828

Z W

_66_




S MBI =X
M HNS2AAY (A =X D)
c©e: ol

02 0

ol HI (GHel &)
_ _ _ SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 RIAL22IE S 315,108 226, 131 88,977
OXYGOISHEH OFS=X WA Q1 HH| 233,800
=2 116,900
[= 23,380
Al 93,520
OXNLOISHE OrS =X DA QLA (AlHl =0t
2) 81,308
o X o4 Z AlH| 120,0009 * 13 * 1204 < 18,720
oplogt 100,000 * 132 * 12042 15,600
o A2A2R LY (Aldl22 Y OIS=EXR
Ab) 15,0002 * 15A12F * 1204 2,700
oZXHOH (M 22 SY OIS=EXI WA
170,0009 * 1¥ » 1200 & 2,040
CcHHBESY 4,080
~OlS =2 X W AHZ40A12})
40,0008 * 1Y = 12042 480
—OlS 2 X WAHZE25A124)
25,0002 * 129 * 1200 ¥ 3,600
oXDAC 7,140
-0t S =2 X AH(Z40AI2H)
70,0009 * 198 » 12¢ 840
-OtS = Xl W AH(ZF25A12})
43,7509 * 128 * 12 6,300
cELY 138,000% * 13 » 12)4 & 21,528
o HEE Y| 8,500
-0t S 2 X L AH(Z40Al 2H)
500,0002 * 1% * 23 1,000
-OtS E X W AH(Z25A12})
312,500 * 128 * 23] 7,500
CHXRSIEINSLY 100,000 * 10Y 1,000
J12FH| 41,092 34,332 6,760
J1=23H| 41,092 34,332 6,760
201 LBty 33,792 28,032 5,760
01 AL 22l H 27,792 25,152 2,640
ORN2Y J1=23H| 320,000 * 12% 3,840
O=AMI 9xt2 220,0002 * 129 2,640
OANRE2E IU(ZAX S) 200,0008 * 122 2,400
OMBAIRI|II| ATE ¢
300,000 * 8L * 23 4,800
O3 8,000 * 21Y x 72 » 12¢ 14,112
02 2229 H] 6,000 2,880 3,120
ORERI 500,000 * 12% 6,000
202 04| 2,100 2,100 0
01 2U oyl 2,100 2,100 0

_67_




2N
X ZH -
L= B

el

A3l = X2t
SR oA

Jl=23tl

29 (M=)

SA - ZE-B(EA) - NRAY - B S il 2

OHI&4ZS 20 2,100

203 22 = 4,200 4,200 0

04 2N 4,200 4,200 0
O8N 350,000& = 123 4,200

405 XHoHFEH 1,000 0 1,000

01 KXok 1,000 0 1,000
OAMER 1,000

MWEES(AMISX ) 50,000 50,000 0

HEAHHK = 50,000 50,000 0

HEHAH X = 50,000 50,000 0

702 J12d 50,000 50,000 0

01 212& 50,000 50,000 0
OZ M HES 50,000

_68_




